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leV = 1.602 x 107 *joule, IMeV = 10%V, lamu = 931.49432 MeV/c?
Ifm = 107" m, ¢ = 2.99792458 x 10°m/s, h = 6.6260755 x 107**J - s. (1)
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00000 :m, = 1.6726231 x 107*" kg = 1.007277 amu = 938.272804 MeV/c?,
0000000 :myg = 1.007825 amu = 938.783263 MeV/c?,
000000 :m, = 1.6749286 x 10727 kg = 1.008665 amu = 939.565718 MeV/c?.
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2. 0000
AM = [2Xxmyg+2xm, — M(a)
= [2x 1.007825 + 2 x 1.008665 — 4.00260)] x amu
— AM = [0.03038] amu, (2)
AM 0.03038
= = 0.00759 3
M (a) 4.00260 ’ (3)
B.E. = AM xc
[0.03038] amu x ¢
— B.E. = 2829 MeV. (4)
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sHe 4+~ —3 Hy +1 H. (5)
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= [M({Hz) + M(;H) — M(;He)]

= [3.016049 + 1.007825 — 4.00260] x amuc’

= [0.021275] x 931.5 MeV

= 19.817 MeV. (6)
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2.99792458 x 108111/8 X 6.6260755 x 10734J - s
19.817 x 106 x 1.602 x 10~ ?joule
(2.99792458 X 6.6260755) o 108-3-6+19 ms~1Js
19.817 x 1.602 J
0.627 x 1073 m

62.7 fm. (7)




